
Занятие 1. Повторение 

1 Вычислить: 

   

 

ё)  ж)   з)  

2) Упростить и вычислить:  

а) ; б) ; в) ; г) д) ; е)  

3) Решить уравнение: 

а) в)  б)    

г)   д) 534 2  xx ;  е) 034 2  xx ;   ё)  054 2 x ; ж)  4
3

1

2


 xx
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4) Решить неравенство: 

а)   xxx 6523  ;  б) 034 2  xx ;   в)  0364 2 x ; г)  0
3

1

2


 xx
 

5) Построить графики функций: 

а) x32y  ;  б) 762 2  xxy ;   в)  2
3

4





x
y ; г)  xy  ;  д) 3xy   

6) Разложить на множители: 

а) 94 2 x ;  б) 38125 x ;   в)  163 yx ; г)  164 x ;  д)  

е)  

 

 



Домашнее задание: 

1) Вычислить:   

ё)  

2) Упростить и вычислить:  

а)  ; б) ;в) ; г) ; д)  

3) Решить уравнения:  а)  б)    

в)  0432 2  xx ; г) 0583 2  xx ;   д)  0162 x ;е)  
3

3
2

2

2




 xx
. 

4) Решить неравенство: 

а)   57134  xx ;  б) 034 2  xx ;   в)  0364 2 x ; г)  0
2

32





xx
. 

5) Построить графики функций: 

а) 32y  x ;  б) 242  xxy ;   в)  4
1

2







x
y ; г)  2 xy ;  д) 3xy   

6) Выучить формулы:      
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